

① ✓ ✓ $\frac{1}{(x+a)(x+b)} = \frac{A}{(x+a)} + \frac{B}{(x+b)}$ Ner < Den.

② $\frac{1}{(x+a)^2(x+b)} = \frac{A}{(x+a)} + \frac{B}{(x+a)^2} + \frac{C}{(x+b)}$

③ $\frac{1}{(x^2+a)(x+b)} = \frac{Ax+B}{(x^2+a)} + \frac{C}{x+b}$ ② + $\frac{①}{2} = \frac{5}{2}$

~~*~~
Ner > Den.
 powe / powe

→ Divide Ner. by Den.

→ geten that $\frac{\text{Remi}}{\text{Den.}}$

$$\begin{array}{r} 2 \overline{) 5} \quad \textcircled{2} \\ \underline{4} \\ 1 \end{array}$$

$$a. \int \frac{x}{(x-1)^2(x+2)} dx \Rightarrow \frac{x}{(x-1)^2(x+2)} = \frac{A}{x-1} + \frac{B}{(x-1)^2} + \frac{C}{x+2} \quad \text{--- (I)}$$

$$\Rightarrow \frac{x}{(x-1)^2(x+2)} = \frac{A(x-1)(x+2) + B(x+2) + C(x-1)^2}{(x-1)^2(x+2)}$$

$$\frac{(x-1)^{-2+1}}{-2+1}$$

$$\Rightarrow x = An^2 + An - 2A + Bn + 2B + Cx^2 + C - 2Cx$$

\Rightarrow Coeff \rightarrow

$$[0 = -2A + 2B + C]$$

x -coeff.

$$[1 = A + B - 2C]$$

x^2 -coeff.

$$[0 = A + C]$$

partial (I)

$$\Rightarrow 0 = -2(-C) + 2B + C$$

$$\Rightarrow 0 = 3C + 2B \quad \text{--- (II)}$$

$$\Rightarrow 1 = -C + B - 2C$$

$$\Rightarrow 1 = B - 3C \quad \text{--- (III)}$$

$$A = -C$$

$$A = \frac{2}{3}$$

$$\left(\frac{2/3}{x-1} + \frac{1/3}{(x-1)^2} \right) + \left(\frac{-2/3}{x+2} \right) dx$$

$$\Rightarrow 1 = -3C + B$$

$$1 = 3B$$

$$\Rightarrow B = \frac{1}{3}$$

$$\Rightarrow 1 = \frac{1}{3} - 3C$$

$$\Rightarrow 3C = -\frac{2}{3}$$

$$C = -\frac{2}{9}$$

$$\frac{2}{9} \log|x-1| - \frac{2}{9} \log|x+2| + C$$

+ C ✓

Q. $\int \frac{3x+5}{x^3 - x^2 - x + 1} dx = \frac{3x+5}{x^2(x-1) - 1(x-1)} = \frac{3x+5}{(x-1)(x^2-1)} = \frac{3x+5}{(x-1)(x-1)(x+1)}$

$= \frac{\cancel{3x+5}}{(x-1)^2(x+1)} \rightarrow \frac{2}{x}$

$$\int \frac{2x-3}{(x^2-1)(2x+3)} dx = \frac{2x-3}{(x-1)(x+1)(2x+3)}$$

$$Q. \int \frac{x^3 + x + 1}{x^2 - 1} dx \rightarrow$$

Divide Num by Den.

$$\begin{array}{r} x^2 - 1 \overline{) x^3 + x + 1} \\ \underline{-x^3} \\ -x + 1 \end{array}$$

$$\Rightarrow \text{So! } \frac{x^3 + x + 1}{x^2 - 1} = x + \frac{2x + 1}{x^2 - 1}$$

$$I = \int x \, dx + \int \frac{2x + 1}{x^2 - 1} \, dx$$

I_1 I_2

Num. power > Den. power

$$\text{so } I_2 = \int \frac{2x + 1}{(x^2 - 1)} \, dx = \frac{2x + 1}{(x - 1)(x + 1)}$$

$$\frac{2x + 1}{(x - 1)(x + 1)} = \frac{A}{x - 1} + \frac{B}{x + 1}$$

$$\Rightarrow 2x + 1 = A(x + 1) + B(x - 1)$$

$$\Rightarrow \boxed{2 = A + B} \quad | \quad \boxed{1 = A - B}$$

$$3 = 2A \Rightarrow \boxed{A = \frac{3}{2}} \quad \text{and} \quad \boxed{B = -\frac{1}{2}}$$

$$I_2 = \int \frac{3/2}{x - 1} \, dx + \int \frac{1/2}{x + 1} \, dx =$$

$$I = \frac{x^2}{2} + \frac{3}{2} \log|x - 1| + \frac{1}{2} \log|x + 1| + C$$

$$Q. \int \frac{2}{(1-x)(1+x^2)} dx = \frac{A}{(1-x)} + \frac{Bx+C}{(1+x^2)} = \frac{Ax+B}{(1+x^2)} + \frac{C}{(1-x)}$$

Q.



Q. $\int \frac{1-x^2}{x(1-2x)} dx = \int \frac{1-x^2}{x-2x^2} dx$ $\frac{2-x}{x-2x^2} = \frac{2-x}{x(1-2x)} = \frac{A}{x} + \frac{B}{1-2x}$

Divide

$$\begin{array}{r} x-2x^2 \overline{) 1-x^2} \\ \underline{-x} \\ 1-x^2 \\ \underline{+x^2} \\ 1 \end{array}$$

$$\int \frac{1-x^2}{x-2x^2} = \frac{1}{2} + \frac{-\frac{x}{2} + 1}{x-2x^2}$$

So: $I = \int \frac{1}{2} dx + \int \frac{2-x}{2(x-2x^2)} dx$

up $I_2 = \frac{1}{2} \int \frac{2-x}{x-2x^2} dx$

$$\Rightarrow 2-x = A(1-2x) + Bx$$

$$\Rightarrow 2 = A \quad | \quad -1 = -2A + B$$

$$-1 = -4 + B \Rightarrow B = 3$$

$$I_2 = \frac{1}{2} \left[\int \frac{2}{x} dx + \int \frac{3}{1-2x} dx \right]$$

$$I_2 = \frac{1}{2} \left[2 \log|x| + 3 \log|1-2x| \right]$$

So $I = \frac{x}{2} + \log|x| - \frac{3}{4} \log|1-2x| + C$

h.w

$$\int \frac{1}{x^4 - 1} \cdot dx = \frac{1}{(x^2)^2 - (1)^2} = \frac{1}{(x^2 - 1)(x^2 + 1)}$$

$\frac{Ax + B}{(x^2 - 1)} + \frac{Cx + D}{(x^2 + 1)}$

$$= \frac{1}{(x-1)(x+1)(x^2+1)}$$

$$\int \frac{A}{(x-1)} + \int \frac{B}{(x+1)} + \int \frac{Cx + D}{(x^2+1)}$$

$$Q. \int \frac{1}{x(x^n+1)} dx =$$

$$\text{h.w. } \int \frac{x^3}{x^4(x^4-1)} dx$$

\Rightarrow multiply & Divide by x^{n-1} \Rightarrow $\frac{dt/3}{t(t-1)}$

$$\Rightarrow \int \frac{1 \times x^{n-1}}{x \cdot x^{n-1} (x^n+1)} dx = \int \frac{x^{n-1} dx}{x^n (x^n+1)}$$

let $x^n = t \Rightarrow nx^{n-1} dx = dt \Rightarrow dt/n$

so, $\int \frac{x^{n-1}}{x^n (x^n+1)} = \int \frac{dt/n}{t(t+1)} = \frac{1}{n} \int \frac{1}{t(t+1)} dx$

$$\Rightarrow \frac{1}{n} \left[\frac{A}{t} + \frac{B}{t+1} \right]$$

h.w